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DÑ¥a knot in s? t

k is slice in a 4-MAID hf if
there is

↳ 134

with c)D= K .

If ✗
"
is closed

"slice in✗
"

: =
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slice in ✗ tint B"
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Ob Every knot is slice in
some W

"
.

Suppose Kroll
via

a
G)→ C- s

b f) → G) crossing charges .
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Observation : W=(#•##?)×←ow=s•
B
"
U ( xD ) u .

. .

u×Ñ)
r(E) <→d-DYDObs.2-K.rsslice in W .
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So K is slice in (# a ICRZ##bapt )?
A-

In fact . . . . the slice disc
is null- homologous

~

So Tais is H - slice in ①p? [Exercise :

Tais is slice in ERT]
¥pÉ)=1 (but not H - slice.)

.

Deff uaptz (Iss) = •

A-Uepzck) = min { n c-Ñ⇒
: Kis H - slice in #

"

Gp2}
.

- Uw (K) -

-
min"{ " " #he}

(or a)
.

Uipz (K) = U¢(K→
.

Thin [Cochran -Tweedy]
smooth

Ki5H- slice

in#mipz
⇒ K~J→ R ←

slice

T
smoothly

m generalized 7--388
G)→ C-I

conc .
crossing charges

10bstroctions.co/dandnew-

(1) K H - slice in #METH ⇒ -2ms a- (w) so

#nip ⇒ O=Élw)s£n
Ex_ wes

'

U¢(#
'

I.D= a
, u¢☒- (#

'E.)= N



ITwofeatures.uepa.lk)
,
U#
( K) < so ⇒ Jk (w) 0

no bounds for Uqipz

¥p2
• This bound holds topologically

(2) SAD , -4k) , d (4K) , etc . .
. ?

their sign can imply Yap(
K)=D

¥#3) = I.⇒ ↳ (Cn ,,T⇒)=I .
JH

Cm,
(a)= U .

(3) them [ kjuchokova -M - Ray
-
Sakaki]

If Kis smoothly H -slice in #
"

QP? dk)=_0
then E.(K) =D ✗

"

,
where

a) b. (X) = 2h

(2) the intersection form
of ✗ is

(a) positive definite

(b) of half - integer surgerytype

y
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,Ideaofpro
✗= &# CIR

"

,

slice disc)
.

(1) +②a) : Already knows.

_(2b) :

§ § §
~

④••r¥f•• D= #mePJ
Dr €
.

7⇒
Taking the double

branched cover
✗ u 2-

¥É&Éiioñdefinite mfld
.

Hz(X) I Hzlw)
,

Hzlw) E - int . surgery
type -



w-hyisthisuse-R.rs

idea:

y : 27×27^-227

Q : Is there a
"

basis
"

X . ,
. . ,Xn for 27

"

where this map
looks like

Ytxi , ✗g) = {
+1 i - i

0 else
.


